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YF =04, =0
YF =0=4,+B, -400=0=>4 +B, =400
> M, =0=(400)(2)-B,(4)=0=800=4B, =B =200N

A, +B, =400= 4, +200=400=>|4, =200N
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YF =0=
Y F =0=>4,+B,—1200-600=0=>A4, +B =1800 =

> M, =0=>(1200)(2)+(600)(4)— B, (6) = 0= 4800 =68 =
B, =800N

A, +B, =1800= 4, +800 =1800 =

4, =1000N
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{Px =P cos® =10cos30=10(0.8) =8N

P, =P sin@=10sin30=10(0.5) = 5N

Y F. =0=>B_+8=0={B, =—8KN

ZF}, :OZ>Ay —I—By —SZODAy —I—By =D #x
YM,=0=4,06)-(5)02)=0=>4,(6)=10=>|4, =1.6KN

Ay +By :5:>1.6+By :5:>By =3 4KN
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{Fx = F cos 6 =2000cos 45 =2000(0.7) =1400N

F, = F sin 0 =2000sm45 =2000(0.7) =1400N

Y F =0=>4,-1400=0={4, =1400N
Y F =0=>A4,+B,-1400-1000=0=> A4, +B  =2400 ==

> M, =0=>(1000)(2)+(1400)(5)— B, (7) =0 = 9000 =B (7) =
B, =1285N
A, +B, =2400> A4, +1285=2400 =>4 =1115N
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Y F =04, =0
YF =0=>A4, +B,-30=0=>4, +B, =30 =

> M, =0=(10)(4)+(10)(8) +(10)(12)- B, (16) =0 =
240=16B, ={B, =15N

A, +B, =304, +15=30={4, =15N
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1000 N

4. =0
Y F =0=>4,-1000-500=0= A4, =1500N
> M, =0=M +(1000)(2) +(500)(2.5) =0 =
M =-3250N .m




